AFI54E10 8 A EER i L T
P LR FEIR | XTI L5oR i)
Ak (%) (%)
B & 106. 2 0.5 2.8
= P 116. 4 0.5 8.4
E214 ¥H 116. 8 3.7 9.8
£ I ¥ 130. 7 A 0.6 9.7
Al G| 116.9 A 2.4 6.7
) I £ 126.0 A 0.6 21.6
B X . ST 122. 6 2.6 10.9
S Yy 112.1 5.8 16. 8
moE - B Bk B 118.0 0.5 8.5
23 + ¥ 118.9 A 0.4 9.2
B i = AT 113.8 0.6 5.9
ik Bt 107. 4 0.6 7.9
i) G| 109.9 1.7 5.6
248 gy 110.4 A 0.7 3.8
(AR M2k < 2R 114. 8 A 0.1 7.6
( A& & £ &M ) 126. 2 3.5 12.8
IES JE 102. 2 0.0 0.6
£ = 101. 1 0.0 0.1
e B R - HEFF 111.8 0.0 4.5
ot 2 7K el 105. 9 5.3 A 12.0
= X X 106. 7 9.6 A 18.4
H A ] 105. 6 2.4 A 10.9
ftt D ot N 134. 2 6.6 7.8
= F ok iE B 101. 3 0.0 0.0
% H - 5 F M M 114. 5 A 1.0 6.0
% B OB W A B 115. 6 A 2.8 1.0
= W ¥ W 5 109. 8 A 4.2 7.0
= I=h G| 119.1 0.0 12.0
x =+ E = 114.9 0.3 4.9
% H H O #H &£ M 116. 3 0.3 13.1
% H ¥ — v R 100. 7 0.0 0.0
w R & O B W 103.8 0.4 0.3
K £t 101. 2 0.2 A 0.3
Fn Ak 107. 6 0.0 0.7
1 54 101. 2 0.2 A 0.3
VXY Vek—X— - FEH 107.0 1.4 0. 2
Y e b — & — M 106. 9 2.3 A 0.9
T 5 ¥A 107. 2 A 0.1 2.4
J& 7 ¥ 110. 2 A 2.8 1.4
fl o # IR HE 96. 1 3.0 A 0.8
AR BY Y — B R 104. 7 0.0 4.1




P LI T

T EREEK

S F5510 A

it N =G| = S 8 8] S < S S e od
= < <

&
=
oy

LI E SSSHSSS3IS =SS IS S S s s|s|s|s|s

- 4 < < <

m
P
7

(@] — M D= LM HF0 N[OOI AN — OIN 00 © 0 < WK —|oo|Lwo

o3 S a8 Bl < < S e s S S < ||| <=

(@] OO O[O OO OO OO O OO OO0 —HH OIO|IO|IOIO

ﬁ — — —f ) o ] — — — — —{]—{ — —l{ o r—{l—{r—{]—{] —t
Jm

0 M) g T i IS K S nE X X X o5 og 1) & 0l &

AI\TM_\\/XW

- V) E T = =0

. TR | TR T, J nkdE

= mmh e N nlﬂx v £3

= A | ER QA S IR

e g 2 el S I el

Elia B o SRR 2| 4

):lﬂzb{/ E .@%\XU

Bl MR, Ly W | X

= il s T LTS (S|

’ ar e BT el e

p i

KmE  RE SRR B E ROV

15 E T %éw




